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. Protein is made up of-

(a) Lactic Acid

(b) Amino Acid

(c) Fatty Acid

(d) Hydrochloric Acid

. Which nutritious element is digested in the

mouth?
(a) Carbohydrate
(b) Fat

(c) Protein
(d) Vitamins

. Chemical name of Vitamin A is-

(a) Retinal

(b) Tocopherof

(c) Ascorbic Acid
(d) Pentothenic Acid

. Which essential amino acid is not present in

Pulses ?

(a) Lysine

(b) Methionine
(c) Isolucine
(d) Lucien

. By which name sugar of milk is known ?

(a) Fructose
(b) Sucrose
(c) Lactose (d) Glucose

. Which pigment is found in red colored

vegetables ?

(a) Chururphyll

(b) Carotenoids

(c) Anthocynins (d) None of above
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7. What is added to rice to avoid insects ?
(a) Saltand grounded pepper
(b) Turmeric and salt
(c) Grounded pepper and coriander
(d) Grounded coriander and turmeric
8. A mentally healthy person have-
(a) Energy
(b) Stress
(c) Believe (d) Appetite
9. What should be the surrounding
environment for good health ?
(a) Favorable
(b) Adverse
(c) Dirty (d) Dirty free
10. What plant element of nutrient element
mainly does the building work of body ?
(a) Carbohydrate
(b) Vitamins
(c) Protein (d) Fat
11. How much energy does 1 gram of cubs
provide ?
(a) 4 kcal
(b) 9kcal
(c) 6kcal (d) 8kcal
12.  Which disease is caused by the deficiency
of thiamine ?
(a) Niacin
(b) Scurvy
(c) Nightblindness (d) Berry- berry
13. Additional energy is required during
pregnancy is ?
(a) +300 kcal
(b) +350 kcal
(c) +250 kcal (d) +200 kcal
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14. Which one of the following spices gives
Colum to the food ?
(a) Cinnamon

(b) Cloves
(c) Turmeric (d) Cardamom
15. Calcium requirement during pregnancy is-
(a) 400mg
(b) 600mg
(c) 500mg (d) 1000 mg

16. Benefits of fermenting ?
(a) Food becomes delicious
(b) Nutrient content increases
(c) Food becomes digestible
(d) All of the above
17. Digestion of carobs done in-
(a) Small intestine
(b) Stomach
(c) Large intestine (d) All of the above
18. Which vitamin is known as anti fertility
vitamins ?
(a) VitaminA
(b) Vitamin D
(c) VitaminK (d) Vitamin E
19. Which of the following food is made by
fermentation process ?
(a) Idli
(b) Kachauri
(c) Chowmin (d) Roti
20. Cynocobalamin is known as by which
name ?
(a) Vitamin B6
(b) Vitamin B1
(c) VitaminB 2
(d) Vitamin B12
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21. Which disease is cured by the deficiency
of folic acid ?
(a) Rickets
(b) Night blindness
(c) Anemia (d) Stone in kidney
22. The quality of protein depends on which
of the following ?
(a) On essential amino acid
(b) On non-essential amino acid
(c) Onfatty acid (d) On carobs
23.  Which one of the following is a protective
nutrient element ?
(a) Colonic
(b) Water
(c) Mineral & Vitamins (d) Fat
24. Which disease is caused by the deficiency

up fat?

(a) Scurvy

(b) Rickets

(c) Marasmus (d) Frinoderma

25. ‘Tyline’ acts on which of the following ?
(a) Onfat
(b) On protein
(c) Oncarobs (d) On Vitamin

26.  Which spice is known as “ king of spices ?
(a) Black pepper
(b) Cardamom
(c) Fenugreek (d) Ajwain

27. When was the national goiter control
program stanted in India ?

(a) 1962
(b) 1970
(c) 1992

(d) 1990
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28. Which Vitamin is not present in pulses ?
(a) Thiamine
(b) Vitamin C
(c) VitaminB (d) Niacin
29. Which of the following is not the main
source of carbohydrates ?
(a) Milk
(b) Sugar
(c) Jiggery (d) Honey
30. The main source of obtaining
carbohydrates is ?
(a) Potato
(b) Arbi
(c) Yam (d) All of the above
31. Which disease is caused due to deficiency
of vitamin D ?
(a) Night blindness
(b) Rickets
(c) Bery-Bery (d) Scurvy
32. Anemia is caused due to deficiency of
which one of the following ?
(a) Vitamin A
(b) VitaminD
(c) Iron (d) Calcium
33.  Which one is anti-fertility vitamins ?
(a) Vitamin A
(b) Vitamin D
(c) Vitamin E (d) Vitamin K
34. Supplementary foods help is growing -
(a) Protein and calorie
(b) Vitamin A and iron
(c) Vitamin B and Vitamin C
(d) None of above
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35. Protein is made up of which of the

following ?

(a) Lacticacid

(b) Amino acid

(c) Fattyacid (d) Hydrochloric acid
36.  Which nutritious element is digested in

the mouth ?

(a) Crabs

(b) Fat

(c) Protein (d) Vitamins
37. Chemical name of vitamin A is-

(a) Retinal

(b) Tocopheral

(c) Ascorbicacid (d) Pentothenic acid
38. Which essential amino acid is not present

in pulses ?

(a) Lysine

(b) Methionone

(c) Isoleucine (d) Lucien

39. Which disease is caused by the extras of

fat?

(a) Kwashiarkan

(b) Skin disease

(c) Zerois conjunctiva (d) Obesity
40. Saturated fatty acids are-

(a) Beatific acid

(b) Felsitic acid

(c) Acrylicacid (d) All of the above
41. Unsaturated fatty acid are -

(a) Len oleicacid

(b) Oleicacid

(c) Arachidonic acid

(d) All of the above
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42.  Which one of the following is not the
concentrated source of fat ?

(a) Wheat
(b) Ghee
(c) Oil (d) Butter

43. The component of fat composition is -
(a) Carbon
(b) Hydrogen
(c) Oxygen (d) All of the above
44. Which one of the following is not a part of
the component of carbohydrate ?

(a) Carbon
(b) Hydrogen
(c) Oxygen (d) Nitrogen

45.  Which of the following is a food
preservation method ?
(a) Dehydration
(b) Freezing
(c) Radiation (d) All of the above
46. Quick perishable food item is -
(a) Milk
(b) House gram (Chana)
(c) Maida ( Refined wheat flour ) (d) Rice
47. Causes of food poisoning is -
(a) Undercooked food
(b) Infected kitchen
(c) Cooked food stored for a long time
(d) All of the above
48. Which process of food preservation is
used during the preparation of Jam-Jelly ?
(a) By heat process
(b) By freezing process
(c) By dehydration process
(d) By chemical substance
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49.  Which of the following gives strength to
the human body ?
(a) Protein
(b) Carbohydrate
(c) Fat (d) Vitamin

50. The simplest form of carbohydrate is -
(a) Amino acid
(b) Glucose
(c) Fattyacid (d) None of these

51. After how many months should children
be given supplementary foods ?

(a) 6 month
(b) 8 month
(c) 3 month (d) 9 month

52. Milkisa good source of -
(a) Calcium
(b) Vitamin A
(c) VitaminD (d) Carbohydrate
53. While planning the diet the house rite has
to consider the income of the family -
(a) Should not take into mind
(b) Should take into mind
(c) Nothing should take into mind
(d) None of these
54. Whose help is required is preventing
adulteration ?
(a) Food inspector
(b) Common man
(c) Food adulteration prevention act
(d) All of the above
55. Source of calcium are-
(a) Milk
(b) Curd
(c) Paneer
(d) All of the above
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56. Which of the following is a method of
making food rich is nutritional element ?
(a) Mixing
(b) Fermentation
(c) Germination (d) All of the above

57.  Which of the following nutrient
requirement is raised dunning pregnancy?
(a) Protein
(b) Caloric
(c) Iron (d) All of the above

58. Body growth substances are -

(a) Fat
(b) Carbohydrates
(c) Protein (d) Calcium

59. In which stage a child is influenced by his

on her environment?

(a) Infancy

(b) Childhood

(c) Adolescence (d) None ofthem

60. Which of the following stages is not comes

under pregnancy stage?

(a) Fertilization

(b) embryonic stages

(c) Foetalstage (d)adolescent stage

61. Which vaccine is given to prevent

diphtheria disease?

(a) D.P.T

(b) B.C.G

(c) MM.R (d) Hepatitis B
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62. A social behavior is children are?

(a) To Help (b) To Jump
(c) To Speak (d) To Laugh
63. An Expectant mother should provide
Extra calories in the diet per day are?
(a) 300 (b) 500

(c) 700 (d) 1000
64. Best source of calcium is?
(@) Meat (b) Vegetables
(c) Milk (d) Milk products
65. A Clean Water is?
(a) Colorless (b) Smellers
(c) Germs face (d) All of the above
66. What does mother’s milk provide to Babies?
(a) Natural immunity (b) Protection affection

(c)Botha &b (d) None of these
67. Chemical Name of Water is?

(a) Co, (b) O,

(c) H,O (d) Nacl

68. Which type of diet is given in Diabetes?
(a) Low sugar diet
(b) High fiber diet
(c) High protein
(d) Low protein diet
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69. Meaning of Home science is?

(a) The science deals with the management of Home.

(b) The art of the management of own resources.

(c) The art of decorating house.

(d) The science of working at home.

70. Small children suffering from dysentery should be
Given-

(@) the milk
(b) Hot milk with sugar
(c) Cold water with salt

(d) water with salt & sugar
71. What is mostly mixed in wheat, rice and Millers?
(a) Gravel, stone, soil  (b) Telecom prouder
(c) Grars (d) dust of iron
72. What percentage of the Total body weight is water?
(a) 50-60%  (b) 60-70%
(c) 70-75%  (d) 80%
73. What of the following is disease related to nutrient
Deficiency?
(@) Influenza (b) Bronchitis
(d) Malaria

74. Have a short term fever in-

(c) Anemia

(a) Tuberculosis  (b) Malaria

(c) Typhoid (d) Influenza
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75. What should it be mixed with to make a ORS dint ?
(a) Milk (b) Soup
(c) Juice  (d) None of these
76. The ingredient of the life saving solution is —
(a) Common salt (b) Glucose
(c) Both A& B  (d) None of these

77. Which of the following is not useful according to the
principle of menu Planning ?

(a) Nutrient element balance

(b) Weekly diet chant

(c) Construction of house (d) Sweet food
78. Nutrition is the need of human life ?

(@) Primary (b) Secondary
(d) None of these

79. One should try to meet the deficiency of nutrient in
the diet at a time —

(a) Of Second time (b) Of Yesterday

(c) Of future (d) None of these
80. Which nutrient is most useful for our body ?

(a) Mineral (b) lodine

(c) Protein (d) Fat

(c) Tertiary
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81.By which process dhokla is made ?

(a) By fermentation (b) To bake

(c ) By evaporation (d) By deepfry
82. what is an enzyme basically?

(a) Corbohydrate (b) Protein

(c) Lipid (d) Amino acid

83. Major source of Protein is ?

(a) Black house gram (b) Bengal gram
(c) Pea (d) Soyabean
84. The physical, mental, psychological and moral
strength of a human being is?

(a) Non digestible food. (b) Digesbble food

(c) Nutritious food (d) None of these

85. Coreen vegetables, leafy vegetables, goods
&teebees, dry fruits, sugar and fat

(a)body weak (b) does not provide strength to
the body.
(c) give support to the body. (d) Provid strength to
the body

86.Milk,meat, fishb ,egg, fruits,and fresh vegetables
are -

(a)protechive (b) body warmars

(c)harmful (d)none of there

87.which of the following is aenergy producer
(a)protein (b)earbohydraten fats
(c)vitamiuns&minerals (d)water
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(a) ST aut Gferst dIauT

88.Vitamins and minerals are —
(a) protective (b) gives growth and development
(c) energy provider (d) none of these

89.In which stage protein requirement is the most?
(a) childhood (b) adolesceuce

(c) pregnancy and lactation (d) old age Which
90.nutrient is highly beneficial for our body?

(a) minerals (b) iodine  (c) protein (d) fat

91.How much protein is required by a breast foeding
mother?

(a) 45gm  (b) 50gm (c) 20gm
92.The bodily function of food is-
(a) gives energy

(b) formation of tissue and its wear and tear

(c) to develop immunity in the body

(d) all of the above

93.Energy yielding food elements are -

(a) Carbohydrates (b) fat

(c) protein (d) all of the above
94.A Pregnant women should give-

(a) dry fruits (b) whole pulses

(c) wheat flour with bran (d) all of the above
95.The usefulness of which nutritional elements is
increased by fermenling?

(a) protein  (b) carbs  (c) fat

(d) 65gm

(d) minerals



96.91¢1eT o Il & ST & -

(@Q3IHA IFT  (b)TTHIST

(c)TereRier v g # (d)3Terc & & s 7gT
97. 91 T gfct & Wiet aTell 7 & et AT G 3T
ade -

(@ 8l Heall  (b) HIholl U HIATSTA
)arer  (d) qdrar

98.Y # foh g facTA AT qeTa &Y gT &
OIEFIGERY OIERIGEEI

() faarfasdr  (d)39dea qall faerd|
99.8H HEIT 3MER oleAT TfRT ik

(2)Tg TTCSE BIcT 8(h)3HY FAELY Sk Bl &
(C)3T ITER TS ToAEd AT Hr gfel giehr
& ()T ElcT H RGBT &
100.9fFeaT gRIT SITAT &

(Q) H (b)31ATeT H (c)Teh Bl H (d)eit

101.Fcll H THSIHTT fhaat Ufard glarg
(a) 25% (b) 30% (c) 39% (d) 49%

96.The following is made by the designation of
protein?

(a) Amino acid (b) Glucose

(c) glycerol and fatty acid ( d) none of these
97Which of the following is a best source of
protein?

(a) green vegetables (b) peanut and soyabean

(c) pulses (d) papaya
98.Which vitamin is mostly deficient in milk ?
(@) vitamin A (b) vitamin D

(c) vitamin C  (d) all of the above vitamins
99.We should take balanced diet because -

(a) it is tasty (b) it is good for health

(c) it fulfills all the dietancy requirements.

(d) it enhances the beauty

100.Pectin is found in -

(a) milk (b) cereals (c) rippened fruit (d) sugar
101.What is the percentage of indigestible
pent in fruit?

(a) 25% (b) 30 % (c) 39% (d) 49%



102 .3 # Frefeifehcel AT gy &

() 20%  (b) 23%  (c) 25%(d) 32%

103. 3 ¥ fora wfdera e a1g STt &

(a)3% (b)4% (c)5% (d)5%
104 37 =t 3 foretree i St

(a) ot ez (b) s=afa (C )=t (d) e
105.3 4 firerree Y St @

(a)@fea (by=sll (c)&reT THT (d)FHHTST Hehg
106.9% gfn 7 fircmae Fir St g ?

(a)Tie ()  (C)deeR (d)erhet 1 e
107 .31 9% AT fore a0t o e 21 &

(a) sereer (b) wm (C )sfore (d) fera wat

108 = ThelehI=HIh T H €ufed i T 34H
e & ST

(a) #ee (B )a=difwn (C ) e (d) wics
109. et o firerree i St 21

(a) it fgt (b) udia &1 s

(c) T sfst  (d) =reehi ofie

102.How many carbs are in banana

(@) 20%  (b) 23%  (c) 25%(d) 32%
103.How many Protein are in the Apple ?

(@) 3% (b) 4% (c) 5% ( c) 5%

104. Pure ghee is adulterated by

(a) lead oxid (b) vans pati ghee

(c) gand (d) rau

105.Cereals is adulterated with -

(a) kharia (b) animal fat

(c) perpetual grain (d ) pebbles
106.Grounded coriander is adulterated with -
(a) gond (b) pebbles

(c) stones (d) sits of woods

107.Mango ,;plam, apricot are fruits of which
Clara ?

(a) bailesta (b) pom (c) seeded (d) stored fruit
108.What happens when Row groundnut is
stored in a most place?

(a) yeast (b) bacteria (c) germs (d) mold
109.Black pepper is adulterated with -

(a) Yellow clay (b) papaya seed

(c) watermelon seed (d) horse dura



110. R a1 5 STrergeh WIS TeR ¥ forermeh &1 st 2 ?
(a)=a® (b)daa® (c) s (d) ar®
111 13mmerier firetmer 1 379 2

(A) @rer werert =t foder g

(B)rmer wareit s @rer waTel St TUreRT b TR I g
(C)arar warel =1 gt &=

(D) =& ®E T

112 .aTer TRET0T T ARkl i AT RIAT 2 ?

(a) wefraT (b) THRIFRT (¢) FstefiaoT (d) SiTerdieror
113. oHa IR H I HTHM @ ?

(a) TSI TEET  (b) T BRI AT T HET
(c) 3Tdl shl HSTel ST
11497 i Ty THe R ?

(a) pma T T amer (b)) Sedt SHEEA A gHe

(C )ureor St THET (d) 3udfw asft

115. HqfcTd STTER 7 T80 A & SAfeh T 1 T 78T © ()
e itk it Sfterar (b) ot

() wimht(d) I

116. sis 71 A Se=a R ?

(a) == (b)wrdm  (C)werd

(d) T Gemer i 3t T

(d) wreterEse

110.In which utensils it becomes toxics by
cooking salty food on acid food ?

(a) Steel (b) Clay pot

(c) Brass pot (d) Iron pot

111. Dietary adulteration means :-

(a) Food become toxic (b) Poor quality of food
(c) Food contamination (d) None of these
112. What is the method of food fuservation ?
(a) Freezing (b) Fermentation

(c) Delyolnation (d) Oxidation

113The function of protein the humanbody is?
(a) Cook food (b) Repair broken cells

(c) Strength teeth(d)Maintain blood circulation
114.India’s health problem is :-

(a) Infection daises problem

(c) Nutritional Problem (d) All of the above
115. What are the effects of not having a
balanced diet on a person ?

(a) Lose of Physical strength (b) Weakness
(c) Loss of weight (d) All of the those

116. Essential ingredient of food is:-

(a) Glucose (b Protein (c) Starch
(d)Carbohydrate



117 frferftaa o & i 91 gered o1 IR § $4 31 |
HATe 7

(a) TF (b) fFerfim (c) Feterge (d) S@
1183757 T gE&Aq: BId -

(a)widm  (b)fFefm  (C ) weiesge (d) =&
119.fF=fefaa o @ gaiferss S yeM Fare?

(a) faarfim (b) wfis @@ (c) #Feierge (d) TeH
1205 =1 fFfaRad § & s AT ST 2 ?

(a) W= Fmir s e (b) S Scates

(c) fafram= (d) Torcrads

121 .fFe=fefaa & @ foredr Sett a1e 121 Bt 272

(a) I (b) faarfim (c) s (d) smi=

1.2 2 .91 Hrer Srerfien Sie shi SATargehdT @

(a) wrafrr  (b) s (c) gt (d)=is oft et

117.Which of the following substance acts as a
fuel to the human body?

(a) Protein (b) Vitamin

(c) Carbohydrate (d) Water

118. Honey mainly contain:-

(a) Protein (b) Carbohydrate

(c) Fat (d) Vitamin

119. Which of the following provides the most
energy ?

(a) Carbohydrate (b) Protein

(c) Vitamin (d) Minerals

120 Protein is considered what is the following
(a) A body builder  (b) A energy producer

(c) A Regulatory (d) A Naro enhancer
121. Which of the following does not give
energy’?

(a) Fat (b) Hormone (c) Protein (D) Vitamin
122. Nutrition is the need to human life

(a) Primary (b) Secondary

(c) Tertiary (d) None of these



123, 3ATER SRS T, 27

B ESNEREI S (b)fomm i Fwra
()i &t (d) 578 & =g Tt

124, A it Areraehar Feferfaa O @ fore amar w fef
g?(a) g (b) SRR T Treey feufa
(c) Tt ug e (d) 3uTres Tt

125. wder gfsstai o 100 o § IS H A= erdi 2 ?
(a)35 um (b) 2 w= (c) 11umH (d) 3-4 7
126.Freltargge shi Sfershar A gt g ?

(a) WYHE OEREIRGIRIN]

(c) U= fch qr 7ge @le (d) s et

127 .3ATER TS fohad gutferd & arar ?
(a)ufer A AT A w@e  (b) B U o Wit ST
(c) e (d) s & =1$ T

128. = & @ wissat s e e et ?

(a) 5= (b) =it (c) wbet (d) @fosr e

123. Diet Planning is a..............

(a) Art & Skill  (b) Science & Skill

(b) Both a & b (c) None of these

124. Protein requirement depends on which of
the following?

(a) Age (b) physical & health status

(c) Routine & labour (d) All of the above
125.The amount of protein in 100 grams of
leafy vegetables is:-

(a)35gm (b)11lgm (c)2gm (d)3-4gm
126. Which of the following is caused by an
excess of carbohydrate?

(a) Diabetes (b) Heart flabby

(c) low digestibility and (d) All of the above
127. Diet plan is not influenced by:-

(a) Number of person in the family

(b) Ignorance about food group

(c) House (d) None of these

128. Vegetables does not provide which of the
following?

(a) Water (b) Energy (c) Roughage (d) Mineral



129. e

(a)sTtiT vt (b) eartr gared

(I REERIHERIEED (CIREEZIHEENILED
130.5==1 § TEmefar & Tehdl 87

(a) SwE & (b) 51 & T

(c) ST Fugaa (d) 370 @ ot

131 mrifereer & Tk © fore ded Y el BT STt 27

(a) omafi= (b) ez (C) Fed (d) Fenfem
132.597eT ST 3T IR ST shAarett ueref 27

(a) =@ (b) wETEESe (¢) W (d) Fewem
133.gmftm g

(a) faerfim C (b) faerfim B2faer=B6 (@) fae@B1
134 {31 E =1 Tt T ?

(a) =T (b) Tzawifer ( C ) UrreTed= (d) Jrepostet

135.f=fafaa & @ e i faerfia i S 3 strewrehar gidl
27
(a) fefim A(b) frerfimc (c)ferfimE(d)frefimK

129. Vinegar is:-

(a) Acidic substance (b) Alkalize material

(c) lubricating solvent (d) lubricating absorber
130. Children may be disabled:-

(a) Before birth (b) All the time birth

(c) After the birth (d) All of the above

131. Which element is lacking in the blood
during pregnancy?

(a) Thiamine (b) Calcium

(c) calorie (d) Niacin

132. A substance that produces more heat and
power is:-

(a) fat (b) carbohydrate (c) Protein
(d) Calcium

133. Thiamine is.............

(a) Vitamin C  (b) Vitamin B,

(c) Vitamin Bg  (d) Vitamin B;

134. The Chemical name Vitamin E is —

(a) Retinol (b) Riboflavin

(c) Pyridoxine (D) Tocopheral

135. Which of the following vitamin is involved
in cutting of blood ?  (a) Vitamin A

(b) Vitamin C  (c) Vitamin E (d) Vitamin K



13637 541 H i forer 7 grar 87?

(a)feerfim A (b) faerfimB (c) faerfimE (d)feerfim K

137 smm, st 91 3uamd shi 3Ta€T § i 9N IR ST d
HESIRIEEZCINIRS

(a)adm  (b) == (c) =Fratersee
138.=reitaTsge i o ST I Tart
(@ 15  (b)3m (c) st
139. FETeEge % T I e g

(a) T (b)st (c)arsmm (d) Sudee &t
140.9% reltrse fSrew Ik Y Tens & 3ot Bidl ®, SH T
FEA L

(a) A SeTES (b) =15 &g

(c) dich etz (d) wererrr
141 frnfim i ol @ H-ar YT e 2 7?
(a) %  (b) fehem  (c) werelf
142 XShISHET 31 ST BT §

(a) ST T (b) TR 7 () Fstelieror & (d) IS 7=t

(d) St

(d) 3o w+ft

(d) it

136. Which of these does not dissolve in fat?
(a) Vitamin A (b) Vitamin C
(c) Vitamin E (d) Vitamin K
137. In The State of illness fasting who gets
our body energy from protein?
(a) Protein (b) Carbohydrate (c) Fat (d) Water
138. Sugary source of carbohydrate are :-
(a) Jaggery (b) Grounded jaggery
(c) Sugar (d) All of the above
139. Starchy source of carbohydrate are:-
(a) Wheat (b) Jaw
(c) Bajra (d) all of the above
140. A carbohydrate that contains only are
unit of sugar is called:-
(a) Mono sacharide (b) dia sacharide
(c) poly sacharide (d) Glucose
141. Which disease is caused due to deficiency
of Niacin?
(a) Pellegra (b) Rickets
(c) Scurvy (d) Night blindness
142. Use of Refrigerator is :-
(a) In freezing (b) in fermentation
(c) In dehydration (d) None of these



143 Fr=faRad foerfom & € fores e s e ?
(a) fereritmK (b) faerfim B12
(c) forf=B6 (d) faerfem B2

144 ftafad faerfim & & SH-a1 IR F Jmia 72 e ?
(a) faerfim A (b) fererfmC
(c)fererfam D (d)fererfom E

145 fefafiga 4 @ = faefim A seaaa ga @
(a) TR (b) S (c) fwe (d) =maret

146.fefia @2 Sl § TR ST | ?
(a) fererfi A (b) frerfimB
(c) fererfemC (d) frerfimD

147 frefafaa 1 & =i @1 foerfi som gemsfia @ ?
(a) foerfim A (b) faerfim D (c) fererfi E (4) faerfom C

143. In which of the following vitamins cobalt
is present?

(a) Vitamin K (b) Vitamin B12

(c) Vitamin B6 (d) Vitamin B2
144. Name the vitamin in the following which
is not stared in our body?
(@) Vitamin A (b) Vitamin C

(c) Vitamin D (d) Vitamin E
145. Which one from the following is a best
source of Vitamin A?
(a) Carrot (b) Brinjal

(c) lemon (d) Rice
146. Name the vitamin which is present in
citrus fruit?
(@) Vitamin A (b) Vitamin B

(c) Vitamin C (d) Vitamin D
147. Which one in the following is a water
soluble vitamin?
(a) Vitamin A

(c) Vitamin E

(b) Vitamin D
(d) Vitamin C



148 T Gaheed § S faeifie rmefia et 272 148. Which vitamin is achieve in blood

(A )feef= D (b) foerfim A coagulation ?
(c) ferftm C (d) frerfir K (a) Vitamin D (b) Vitamin A
(c) Vitamin C (d) Vitamin K

149 @41 (sun shine) ferfim 2

(a) frerftm B (b) forerfim C 149. Name the sun-shine vitamin?

(a) Vitamin B (b) Vitamin C
(c) fereriér D (d) fererfir A (c) Vitamin D (d) Vitamin A
150. ffetfiaa & & 1 &1 I TohaT 51 el hefat @ ? 150. Which of the following diseases is not
(a) zuesicn (b) zwes  (c) waemset (d) #wfer spread by blood transfusion?

(a) Hepatitis (b) Typhoid
(c) HIV (d) Malaria



151 difswaaa ?

(a) am (b) @fi= wd foerfim (c) == u& st (d)3Tz®
afiNutritions Elements are-
(a) Protein (b) Minerals andVitamins

(c) Fats & Carbohydrates (d) All of the Above
152+ &1 ™l T 2 ?
(a) wmifes st (b) wHfesm ™ (C )uramTes wE (d)=mtSres =,

Food does not work as-

(a) Physical Work

(c) Psychological Work

153 .3l S FA I A acd & ?
(a) FEeEge (b) =& (c) o=
Energy yielding food elements are
(a) Carbohydrates (b) Fats (c) Proteins  (d) All of the above
154 <R ¥ gt it fmior e aret s a2 ?

(a) wm (b) Efsrerar (c) s (d) sugs asft

What are the nutrients that make up the body?
(a) Protein (b) MineralsSalt (c) Water
155.37ER T&0T AT AEIF Bar e ?

(a) gfg wa foem & foe (b) it wiftr & fere

(c )T & == 3 fag (d) Sues wft % forg
Is it necessary to takefood ?

(a) for growth & development (b) to get energy
(c) To prevent diseases (d) All of the above

156. Fetersse i T e &9 9 B 2 ?

(b) Mental Work
(d) Social Work

(d) s7as &+t

(d) All of the above

(a)=m® (b) ster (C)are=r wem T & (d)3wtrs & & w1 e
Carbohydrates are mainly obtained ?

(a) meat (b) eggs (c) from food and sugar (d) none of the
above

157. freafafaa o @ frea e wered & Wi 7€ urn Strar @

(A) wiwr = a=eft (B) Grmsfia (C)etmg (D) 7ex

. Protein is not found in which of the following ?
(A) Meat or Fish(B) Soyabean (C) Potato (D) Pea

158. 591 H gl faerfi 8 2

(A) fafimst (B) fafimdt (C) fefimg D) SWikh & & 1S &
.Fat soluble vitamin are -

(A) Vitamin B (B) Vitamin C (C) Vitamin A D) None of the above
159 . 3ragehar & Ak 98T Td HeARl F1 gfom § ?
(A) === (B) uferr (C ) e
Excersof the fats and calories result is ?

(A) Chicken pox (B) Dysentery (C) Obesity (D) Infections disease
160. faerfir T &t sHt & 9 |1 T Sca &1 Tk & ?

(A) Terehe (B) wweft (C) wran (D) 374 & =18 &
Which disease can arise due to deficiency of Vitamin A ?
(A)Goitre(B) night Blindness (C) paralysis (D) None of these

161. foerfrm < it et & T=ait § I |1 I SAT 2T ST e ?

A) wieft (B) Teris (C )fchem (D) wr=rar

Vitamin D deficiency causes which disease in children?

(A) night blindness (B) goiter (C) rickets (D) paralysis

162. fr=fafas # @ fred aafim T e Smar ? ?

(A) Tt (B) wrms (C)eigfaart (D) gu

Thiamine is not found in which of the following?

(A)Peanut (B) Soyabean (C) Sprouted pulses (D) Milk

163. =gt o faerfie € it srcafirs st & 9 97 U7 a1 & ThaT & ?

(D) wrshmrer Tt

(A) <tepar (B) Tt (C) e o (D) feafen
Which disease can arise due to excessive deficiency of Vitamin Cin a
person?

(A) Paralysis (B) Scurvy (C) Tuberculosis (D) Diphtheria
164. fFrfafas § @ e foerfim =t 1 &q T2 aar ST  ?

(A) T (B) s (C) sy, (D) R,

Which of the following is not a source of Vitamin C?

(A) Tomato (B) Orange (C) Potato (D) Lemon

165. SRR AR il FHHT & I FT T I~ &l Tl & ?

(A) srfifen (B) whel (C) & qm (D) s @ =S T
Which disease can arise due to lack of iron in the diet?

(A) Anemia (B) Scurvy (C) Tuberculosis (D) None of these



16677 % STTER H SRS 1 T & T | T 37 & Gohall 87

(A) e (B) g (C)reris (D) w=ran

Which disease can arise due to deficiency of iodine in human diet?
(A) tuberculosis (B) asthma (C) goiter (D) paralysis

167. = 5 %1 | oo s 7 gerria 72 @ ?

(A) fafimst  (B) fefimg (C) ffimsft (D) ffm &
Which of the following vitamins is not fat soluble?

(A) Vitamin B (B) Vitamin A (C) Vitamin B (D) Vitamin K

168 = # Fi | et St o gereiiar 78 & ?

(A) fafimst (B) faefimb2 (C) fafims (D) Trafem

Which of the following vitamins is not soluble in water?

(A) Vitamin B (B) Vitamin B2 (C) Vitamin E (D) Niacin

169.7 =1 foerfim et & geefia @ ?

(A) foafimdt (B) fafmdr (C) faarfimg (D)ferfim $

Which vitamin is water soluble?

(A) Vitamin C (B) Vitamin D (C) Vitamin A (D) Vitamin E
170.3u # fora i =1 wmn: s @ Eran @ ?

(A) frfim g (B) farfimsft  (C) fotfim& (D) v et forerfere
Which vitamin is generally absent in milk?

(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) Suitable all vitamins
171 a @ i & fererfi wre S & 2

(A) frfimst (B) fefmdr (C) faafimw (D) e
Which vitamin is found in milk?

(A) Vitamin B (B) Vitamin D (C) Vitamin A (D) Vitamin K

172 g ad form wq d et € 2

(A)wessfr  (B) ¥ (C)meifm (D) sefen

In what form is protein in milk?

(A) Albumin (B) Casein (C) Myosin (D) Blutig

173 .3 & uTed o SFaT @

(A) fiFtema (B) whist (C) ficreriiet weh et vt (D) ST § & 15 et
Formed by the digestion of proteins

(A) Amino acid (B) glucose

(C) glycerol and fatty acid (D) none of the above

174 X7 e USITEH ST STHRTE § S g ?

(A) S o foram st @ (B) et gur €1 i fora e @
(C) 3a I BT 3 WA 1 st e (D) He i w=mare

Enzyme called renin which is made in the stomach?

(A) acts on proteins (B) only milk acts on proteins

(C) breaks down milk and separates its protein (D) digests starch
175 .uftes ek USITEH T ST |

(A) Slexm@d (B) fimw@d (C) eriabm @ d
An enzyme called pepsin is found in

(A) gastric juice (B) bile juice (C) intestinal juice (D) pancreatic juice
176 1 @1 Ser wyot smer e ?

(A) w1 (B) 3= (C )=t (D)wie

Which diet is a complete diet?

(A) fruit (B) milk (C) curd (D) meat

177 77 % ¥ § forat @ Ao gt 2

(A) 6 (B) 8 (C) 10 (D) 2

How many salivary glands are there in human mouth

(A) 6 (B) 8 (C) 10 (D) 2

178 531 919 S a1t =ik i feha ot forefem sht amer strarsareh gieft @

(A) 21 ficfums - (B) 18 fiefiorw (C) 15 facfiorm (D) 24fefiom

How many milligrams of niacin is needed by a hard worker

(a)21 mg (B) 18 mg (C) 15 mg (D) 24 mg

179. & ¢ | feran wfoera STt @ 2?

(A)75% (B)70% (C) 78% (D) 83 %

What percentage of water is in the human kidney?

(A) 75% (B)70% (C) 78% (D) 83 %

180.3Taa 7= % YR H fohe I 8T Taw hiatsieh g1 Hferd & gehar @ ?

(A) 507 (B) 75wm (C) 100 am= (D) 150 am=

How many grams of fat and carbs can be stored in the average human
body ?

(A) 50 grams (B) 75 grams (C) 100 grams (D) 150 grams

181 =@ gAY Hvt St shi fore SfceTt STTarvarshan i qfd 7t 8 ?

(A) 10 15% (B)15%20% (C)25@30 (D) 20 25%

(D) sr=mifer W &



What percentage of our total energy requirement is met by fat?

(A) 10 to 15% (B) 15 to 20% (C) 25 to 30 (D) 20 to 25%

182. g & H T kT ol o1 H IR Fo e & e

Tore wfcreTd oH aW AT 27

(A)45% (B) 53% (C) 60% (D) 65%

Cooking with a pressure cooker on average compared to cooking in an
open vessel How much less time does it take?

(A) 45% (B) 53% (C) 60% (D) 65%

183 WEHFHH e HEA B & ?

(A) SIS T T &5 (B) o = = &
(C )egers e 1 (D) e weft

What are the main areas in the kitchen?

(A) area (B) preparation area
(C) Washable (D) Suitable for all

184 . fepsirrereer & IuT i % fmior vdl wh Y agradt & foru forg =fist i srrersrenar aidi @ ?
(A) Sfesrm & (B) fyerfimsdr (C) aR A (D) wremrE %

What is needed in adolescence for the formation of Uttara Ko and the
growth of blood?

(A) Calcium  (B) Vitamin  (C) lron

185. fFrfetfaa # =fier 78 71 2 arel @ werd S ar e ?
(A) gz (B) wiw (C) stmer (D) ==
Which of the following is a non-perishable food item?

(A) Milk (B) Cheese (C) Flour (D) Curd

186. 3z i st @ gmar e ?

(A) Ffeerm (B) =ftg dc (C ) (D) fererferr <ft
Osteoporosis is caused by the deficiency of?

(A) Calcium (B) Iron element (C) lodine (D) Vitamin B

187w melaredt &t T SATvERAT TiiE ded i TfdfeT et Bt § ?

(A) 30 mg (B) 28mg (C)38mg (D) 36 mg

What is the daily requirement of iron element of a pregnant woman?
(A)30 mg (B) 28 mg (C) 38 mg (D) 36 mg

18834 3 o1k o &9 H i €l WIEH 5w Seft & ?

(A) e (B) e (C) drmeiroafire (D)fem

Which protein accumulates in the form of a milk clot?

(D) Phosphorus

(A)Albumin (B) Lacylbumin (C) Lacyglobumin (D) Casein

189 . FafTTRER THeh TNT foherehl St T BT § ?

(A) wém (B) Fferm (C)ereaea (D) fererfim it
Kwashiorkor disease is caused due to the deficiency of

(A) Protein (B) Calcium (C) Iron element (D) Vitamin B

190.fererew ware 1 & & forersht ot & Srar 27

(A) Farfimst (B) ferfim g (C)fofimst (D) foefimr <t
Betasspot is caused by the deficiency of which of the following?
(A) Vitamin B (B) Vitamin A (C) Vitamin C (D) Vitamin D

191 A TR ¥ g@r ST ard € ?

(A) = (B) sz #  (C )aspa#®

Fat deposits in the human body :-

(a) in the epidermis  (b) in adiposetissue
(c) in the liver (d) in epithelium
192 .fwifera sie & & for & wTe e o warfferes ot aTe 2t & ?

(A) o (B) =& (C) weitersge (D) foerfem

Which of the following food provides maximum energy per gram ?
(a) protein  (b) fat (c) carbohydrates  (d) vitamin

193 . et vreg fora wfeafea foram ?

(A) Hea 3 (B) w=R T (C) (D)=
Who coined the term vitamin?

(a) Mendal (b) Pasteur (c)funk (d)lenek
194. wrgAepiamenfiT € ?

(A) afimdt (B) fefim b2 (C )farfim B6
Cyanocobalamin is :-

(a) vitamin c (b) vitamin b2 (c)vitamin b6 (d)vitamin b12

195 . fererfem & o1 aed ST Ea & ?

(A) &= (B) sm (C )stiaan (D) gx

The best source of vitamin Cis :-

(a) apple  (b) mango (c)amla  (d) milk

196. Ffctfiga & fore forerfi shi et o 0T FUEl | Th AT @ 31N 3fd oo e e ?
(A) frfim T (B) frfimst  (C )frerfim =t (D) forrftmr <t

(D) whtferferm &

(D) frerftm B12



In the following which vitamin deficiency causes bleeding gums and
loosening teeth?

(a) vitamina (b) vitamin b (c) vitaminc (d) vitamind
197. Tyt i =1 qama s T F e ?
(A) wsiesn et (B) wehifeish a1 (C) siteroifereh seet (D) refeer st

The chemical name of vitamin Cis —

(a) citric acid  (b) scorbic acid (c) oxalicacid (d) nitric acid
198.97: FIeh g9 7 IR H Fefefiad § & & 1 ferfie Sc= erar g ?

(A) faarfim g (B) foerfimrst  (C) fyefimdt (D) ferfim &

Which of the following vitamins is produced in the human body in the
morning sun?

(a) vitamin a (b) vitaminb  (c)vitaminc  (d) vitamind

199 . #efert & e o det H foreehl ST Bt & ?

(A) fafim A (B) fyerfim it (C) forrfem <t (D) frerfim g
What is abundant in fish liver oil?

(a) vitamina (b)vitaminc (c) vitamind (d)vitamine

200. 77T % 1 % TATET e o o fore foreTfe =7 e 8 ?

(A) ffim T (B) ffimst  (C )efimdt (D) ferfims

Which vitamin is related to the healthy operation of human eyes?
(a)vitamina (b) vitaminb (c)vitaminc (d) vitamin k
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201.Which Vitamin is Soluble In water?
(@) vitC (b) Vit D
(c) Vit A (d) Vit E

202. Carbohydrate is mainly found in-
(a) Meat (b) Egg

(c) Creels and Sugar (d) None of the above
203. The main noel in growth formation development

of bodyis

(a) Fat (b) Carbohydrate
(c) Protein (d) Vitamins

204. Intake of good id necessary
(a) Growth and development
(b) Source of energy
(c) Invention from diseases
(d) All of above

205. Which vitamin is soluble in fat?
(a) Vitamin B (b) Vitamin C
(c) Vitamin A (d) None of the above

206. Main source of energy in food is-

(a) Carbohydrate (b) Protein
(c) Mineral (d) Vitamin
207. The Main vegetables of protein is-
(a) Vegetables (b) Fruits
(c) Soya beans (d) Salad



208. DI AT 3MER FOf AER B
&) B @)
(m) <& (&r) i<

209. <Y H b faeIfA &1 urm: apa &1 €T &
CORCEIGERY (@) ferf= €
() e @ (&) SugeRT a1 faer@=a

210. 3ifET @1 JRem & fog & w1 faefie smavad &
(@) ferfim g (@) faerfm &
() ferfa= <@ (&) ferfm @

211, 9T SRTT @ WIog ugrel ®Ir 23—
(@) 79 A T VST (@) ave, s T favge
(1) ST Bierdt @ WRIEE (| ) WY |, gdax 9 d8dl

212. W) WISR Wee Well A i 1 faefds arn sar 8-
(@) faerfis ¢ (@) faerd &
(m) faetfa i (@) fefm <

213. IRR # gdi &I 7= B FEa @ar 898 ®1 8 —
(@) ar () el
(M) @St eqor () <l e

214, TR BT I ol F& He drell 9Ivd oOed 8-
(@) U= (@) <t
() wrdfergse (& ) @t @ao

208. Which food is complete food ?
(a) Fruits  (b) Milk
(c) Curd (d) Meat
209. Which Vitamin is lack in milk ?
(a) Vitamin A (b) Vitamin D
(c) Vitamin C (d) all above vitamins
210. Which vitamin is necessary for protection of
eyes?
(a) Vitamin A (b) Vitamin B
(c) Vitamin C  (d) Vitamin D
211. What is the food of animal source ?
(a) Meat, fish & egg
(b) Egg, bread & Biscuit
(c) Pulse, legumes & soya bean
(d) Meat, beetroot & Fish
212. Which vitamin is found in verge citrus fruits ?
(a) Vitamin A (b) Vitamin B
(c) Vitamin C (d) Vitamin D
213. What Controls the amount of liquid in body?
(a) Protein  (b) Water
(c) Minerals (d) Iron
214. Which nutrient gives instant energy in body ?
(a) Protein (b) Fat
(c) carbohydrate (d) Minerals



215. &9 ¥ SAMER o1 ARy, —adfes 215. We should take balance food, because —
@) 8 wiew S ¥ (a) It is tasty
(b) For good health

(x9) 9 @Ry Sib Y&l § |
(1) 39 QMER Fa=ll AR 3MITIHa qRI & oIl & (c) all the requirement related to food is fulfils

(E)ges | 7 g e € by it
(d) It increase the beauty
26, '3”(?;?)‘? qﬁé’l‘—rﬁ febs ea ﬁ(;?ﬁa%—?ﬂl:f 216. Which form of protein is found in milk ?
@) HRNRE &) qibd—,_[ (a) Albumin  (b) Kisen
(c) Miocene (d) Blue -tin
217. Dfew™ UIfld &7 uged A 8- 217. The main source of calcium is —
(@) &1 gfvran (@) TR (a) Green coriander (b) carrot
(m) 3o (m) = (c) Milk (d) Meat
i oy ot e 218. The essential element of protein is —
(@) B () ErESIS (a) Carbon  (b) Hydrogen
@) g @) s & a0 (c) Nitrogen  (d) All the above
219. Which is not a part of egg ?
219. azv%g PT AT Tl B . (a) Albumin (b) Water
®) T ) T (c) Kisen (d) Chalazae
() @ (8) =t 220. Which fruit has most amount of vitamin A?

(a) Banana (b) Papaya

220. FIeTf A | i "= N fvd war # fiierr 8- (c) Apple  (d) Awla/amla

(@) Dt (@) e

i)

() w4 @) sifaelt



221, BT IS o9 | & TR ol [Aendl 8-

(@) faetfa (@) Tefie
() urer (&) @raor
222, Sl PI AOIgd BT qTel T DI AT 8 ?
(@) W= (@) wrElEESe
() w= (&) dfcaam

223, oIl ISP Ulifted ded B—
() @i Ya @fIot efaor
() @ g SraiEERe

224, T TAT STl dR—2 & W DIF W7 Uiftesd dcd 8T 8-
(@) faerf= ¢ (@) faeifsa @&
(m faerfs 4 o @) 379 9 IS &

(@) TeapIoT
(&) Rrerfm ¢a @fie

225. TS T Hell BT BISI—2 Tl H Hled W 7 &Il oIl &
?
() fAerfas (@)
RCEIEE Q% (&) I =iy
226. DI AT Yo oW @ forg emazasd & 7
() 1 (@) <
(m) 31 E) @

227. IR ¥ IUReK 50 urd | 3T & USHT 9 Y@ warE
dofl 3 wadl & ?
@) P ofis (@) dBE
QRRRIEIRIEE @) arciesd sl

221. Which element gives us instant energy?
(a) Vitamin  (b) Glucose
(c) Proteins (d) Minerals
222. Which element makes the teeth strong?
(a) Protein  (b) Carbohydrate
(c) Fat (d) Calcium
223. Energy giving nutrient —
(a) Fat and minerals
(b) Mineral & protein
(c) Fat and carbohydrate
(d) Vitamin and minerals
224. Which nutrient gets destroyed by washing and
pluses?
(a) Vitamin A (b) Vitamin K
(c) Vitamin B group (d) all the above
225. What gets destroyed by cutting vegetables and
fruits?
(a)Vitamin A (b) Calorie
(c) Vitamin C (d) All the above
226. Which vitamin is necessary for blood coagulation?
(a)B (b) D
(c) E (d) K

227. Elements present in teas which are tune heart Nate
and blood circulation?
(a) Tannin acid
(c) Thiofylin

(b) Caffeine
(d) Volatile oil



228, fod FRATSl W 9@ el @ WFRIG WY U9 a9

B © |
(@) SINT (@) <
(M) arotarsd (@) 37 A @l

229. fpg w9t O faerf®= W g e @ wiftd 1 8 ?
@) gl (@) =0
() o () 4w

230. FATEAT - A & —
(@) 4o w@ifae g & (@) ured A e S

() % BT 9eTd B @) Sudaa il

231, 31 Al 49 9 BIF I ureE Uiy I 8 Wy 8
(@) F=urerRyl uftr (W) ydgarerfds ufee
(1) wiex uf~ (&) s ufa

232. AT BT TART f6d A1 § BT Ivys 81l & 2
(@) @7 () ife
WEIEED &) I A T8

233, &4 dfssrdl o wecayut 87
(@) 7 Aels H DT g <l &
(@) 9 <fdl B THHER @l &
(M) T aTeT AET 7 [AedH 9 Wil od el 8
@) 37 ¥ DI &
234. fd o= A WA grn Sfar § 2
@) sidpell (W) He
() urg (&) fasen

g
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228. Which spices increase gives mutual satisfaction and
Nutrients?
(a) Cumin (b) Anise
(c) Caraway (d) All the above
229. Vitamin C and carotene is present in which spiel?
(a) Turmeric (b) green chilies
(c) Cumin (d) Anise

230. Advantage of spiced
(a) It makes food tasty (b) Helps indigestion
(c) Increase number  (d) All the above
231. Which digestive gland is destroyed by drinking excess
alcohol
(a) Pancreatic gland (b)Gallbladder gland
(c) Lactic gland (d) Liver gland
232. The use of spices is useful in which amount
(a) Less (b) Limited
(c) More  (d) Unlimited
233. Why are green vegetable important ?
(a) They look good in salad
(b) they keep your teeth shying
(c) They have lots of vitamins and minerals
(d) None of these
234. Protein can be found in which food
(a) Broccoli (b) Meat
(c) Pie (d) Pizza



235, AT YSTE Sl GOERAd 1 9Y dd @RI A8l Bl of ST,

el ST, HEA 2 |

(@) faard @re garel (@) sl fawmd geret

(1) sifamArd w@re ugred (u) Heeftd @re garef
236. PFA &1 QT =17 1 8

(@) Wd=F 3B TS e

(39) UICHIT A B YdT

(1) AR I’ B TSen¥ Yae

@) Y TE ®

237. faeifm € & wd &
(@) 3@ & Ve (@) ST
(1) |esit (&1) et

238. ffeRad aMER wderr @1 fafdr e @
(@) @rg gl oF @ ST & JAEIS

239. ST A I WIoi AT PRl © ?
(@) gFoia (@) &
@ aEE @) Suddd |+l

240, I 3 BT A9 U7 H GREAV HT FRAT & 2

(@) U el # gl
@) <% mER A fafaedr
(1) AT SR B A B A 99T
©) Suda W

235. Food items that do not spoil for 1 year such as cercal
pulses called as ?
(a) Perishable food (b) Semi perishable food
(c) Non-perishable food (d) Synthetic food
236. The full form of PFAis
(a) Prevention of food
(b) Protection of food act
(c)Prevention of food adulteration act
(d) None of above is correct
237. Source of vitamin D
(a) Sun rays (b) Cereal
(c) Vegetable (d) Fruit
238. Which of the following is not a process of dietary
sunray.
(a) Crytilicats of frequency of taking food items
(b) BMI
(c) 24 hour recall method
(d) Weighing food
239. What should be given to baby after birth ?
(a) Cow’s milk (b) Mother’s Milk
(c) Goat’s milk (d) None of above
240. Food spoilage due to ?
(a) Micro organism (b) Air
(c) Temperature (d) All the above



241. S W DI WTE GEI] &I d&idl & 2
(@) Uv® qAT H gl
(9) <@ MR 7 fafqexT
() s gerf @ T 8N W g9
®@) Sugat w
242. 379 A DI W GREVT B TRIdT &
(@) g (@) gerT
(1) feHeRvr (8) Swad |l
243, ISR AT BT YHIfdd H dlell BRD & 2
(@) aRaR A wewl @) Hen (@) foin
() &) 370 | e
244, ﬁﬁaﬁﬁﬁmﬁwmwﬁ%‘?
) WIS DI DD THY Tb Y@ B v
) NSl DI HH P D foly
) W b A g9 @ ol
(&) SIITADBIC SNaeIH & forg
245. =1 7 9 fba ugre! &1 ST aeR W’ida @ forg fear
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248. FPO 1 q1e1 @re ueref & ?
(@) St (@) Tt
(M) aw = ()

. — —

241. Which of these is a reason for preservation ?
(a) Increasing nutritive value
(b) Variety in daily diet
(c) Saving food from spoilage
(d) All the above
242. Which of these is a technique of food preservation
(a) Refrigeration (b) Drying
(c) Fleering (d) All of above
243, factor which after food planning is
(a) Number of family members
(b) Sex
(c) Age
(d) All of above
244. Which of the following is not a reason for food
preservation ?
(a) To keep food longer
(b) To reduce waste
(c) To avoid cooking
(d) For emergency stock
245. Which of the following substance is used to preserve
the food ?
(a) Salt (b) Sugar
(c) Oil (d) All of above
246. What are the symptoms of food poisoning
(a) Nausea (b) Vomiting
(c) Diarrhea (d) All of above
247. What is the reason of adulteration ?
(a) Fall of morality (b) Great to make
(c) Consumer ignorance (d) All of above
248. Which of these food items is with FPO make
(a)Jam (b) Edible oil
(c) Besant (d) Ghee



249. OIF OTell 999 A 3MER e & fhy Yy &1 yanT 8r 2
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(@) a9 aRT (@) YT G
(MfSSteliaxer gRT (@) e ugret gR

250. B W18 & ddl bl HAl BN o7 MRy ?

(P) Wb 3MMER (@) TR JBR
() IR MER (&) SN 3MER
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249. Which method of food preservation is used for
making Jam Jelly ?
(a) By heating  (b) By refrigeration
(c) By dehydration (d) By chemical substances
250. Which type of diet should be given to a six month old
child
(a) Supplement any diet (b) Liquid diet
(c) Semi liquid diet (d) Solid diet
251. Which of these is a technique of detecting food
adulteration ?
(a) Visual test (b) Chemical test
(c) Physical test  (d) All of above
252. Which of these is a perishable food ?
(a) Milk (b) Gram
(c) Flour (d) Rice
253. The importance of meal planning for
(a) The family (b) The society
(c) Self (d) Comfort
254. Due to food poisoning are
(a) Undercooked
(b) Infected kitchen
(c) Preservation of cooked food item for a long
reveal
(d) All of above
255. The simplest form of carbohydrate is
(a) Fructose (b) yevcose
(c) iyalactose (d) All of above
256. What is the psychological function of food ?
(a) To provide satisfaction
(b) To keep energy
(c) To keep healthy
(d) None of these
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(1) warer spufderor gt AfRfRE (@) 398 | Wi
259. At @ W W e aTell Ugel gY FuT HEcldl 8 2
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(@) UISIad e @) TR IS
(1) @S daURad WioE () ey wiee
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(@) SFTST BT GRRAT & & forw
(@) g Bl WRfET B D forg
() STeT BT R TR B oy
&) Suygat w4l

257. Which of the following is a benefit of food
preservation ?
(a) Saves food from spoilage
(b) Provides food throughout the year
(c) Taste of food maintained
(d) All of above
258. Whose help is required in preventing food
adulteration ?
(a) Food inspector (b) Common man
(c) Prevention of food adulteration act
(d) All of above
259. What is the first milk that comes out of the mothers
breasts called ?
(a) Vitamin (b) Proten
(c) Calcuim (d) Cholesterol
260. After how many months should the child be given
supplement any food ?
(a) Six month (b) Eight month
(c) Three month  (d) Nine month
261. Vitamin A is soluble in
(a) Water (b) Fat
(c)aand b both  (d) None of these
262. In which type of food bacteria grow at a rapid rate?
(a) Protein rich food (b) Fatly food
(c) Mineral rich food (d) Vitamin rich food
263. In which year the prevention of food adulteration act
was formed ?
(a) 1954 (b) 1976
(c) 1973 (d) 1995
264. Pasteurization is aprons which is done for
(a) Preserving cereals  (b) Preserving milk
(c) Preserving pulses (d) All of the above
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265. Which of the following is an essential fatty acid ?
(a) Plasmatic acid (b) Satiric acid
(c) Linollic acid (d) Oleic acid
266. An average a lactating women produces milk pen day
approximately
(a) 400 ml  (b) 1.2 litr
(c) 500 ml  (d) 850 ml
267. Deficiency and excess of nutrition in the body is
referred as
(a) Over nutrition (b) Under nutrition
(c) Malnutrition (d) Disease
268. Which are the protractive foods based on their
functions ?
(a) Green leady vegetable
(c) Rice
269. Stanch is a-
(a) Mono saccharide
(c) Poly- saccharide

(b) Wheat
(d) Finger millet

(b) Di-saccharide
(d) Wax

270. Which among the following chemical is used as a
preservation for pickles
(a) Sodium benzoate (b) Sodium carbonate
(c) Sodium acetate (d)Sodium chloride
271. BMI give an idea about adperson’s
(a) Obesity (b) Height
(c) Blood pressure (d) personality
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272. Most common adulterant is turmeric is
(a) Yellow powder (b) Meanly yellow
(c) Yellow dye (d) None of the above
273. Which of the following is a toxic dhal
(a) Moong (b) Masoor
(c) Urdi (d) Kesari
274. ICMR proposes the following food group system
(a) 11 food group (b) 7 food group
(c) 5 food group (d) 3 food group
275. Which of the following comes under malnulnition
(a) Excess nutrition (b) Under nutrition
(c)aandb (d) None of these
276. Breast feeding is not given when
(a) Mother suffer from chronic illness
(b) Infant is weak
(c) Mother acquires active infection
(d) All of above
277. Which of the following is not direct method of
measurement of nutritional status
(a) Anthropometric test (b) Clinical test
(c) Biochemical test (d) Dietary test
278. By which test method the test of blood and unit is
done
(a) Anthropometric test (b) Clinical test
(c) Biochemical test (d) Dietary test
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279. By which test method length weight and body part is
measured
(a) Clinical test (b) Anthropometrical test
(c) Biochemical test (d) Dietary test
280. By which test the estimate of the a mount of
nutrients taken by person daily is
(a) Dietary survey (b) Clinical test
(c) Anthropometrical test (d) Biochemical test
281. Which of the following is not included in the test in
which doctor estimate the condition of nutrition of any
person ?
(a) Physical test (b) Clinical test
(c) Anthropometry test (d) Biochemical test
82. The measurement of indirect method of nutritional
status
(a) Anthropometry test (b) Biochemical test
(c) Clinical test (d) Dietary survey
283. Which of the following is not category of food ?
(a) Fruit (b) Saccharine
(c) Soybean (d) Honey
284. Which vitamin is found in milk ?

(a) Vitamin B (b) Vitamin A

(c) Vitamin D (d) Vitamin K
285. Which vitamin is rich in lemon

(a) Vitamin A (b) Vitamin B

(c) Vitamin C (d) Vitamin D



286. WG, AR, &Tcl, U, €19, I8, 9Pl 3MMe & 2
(@) wiforst MéM e (&) argfae WS arE
(M) aFafdd gar deE (@) Wi g aeE

287. HTWell, 91T, R, dig), daRIe fe ® 2
() aFRafad WIS AEF (@) aafls a9 AR
(1) aFfded PrdiEgse Ud Siel A
@) faerfd= vd @fiotergor |

288. YIS Wex fie foha® grar Sirar ® 7
@) A (@) B Ui
(M =@ @) T

289. M & HI 8 & ?
(@) IR @1 gfg BT
(@) TG DI TT HE DI AT TG GAMHATT BLAT
() TS Td BTHE BT SHT dRe
(&) U BT

290. fFPr=feRaa & fpwa Wva=n sl 3l & Ao & g+

g7
(®) a1 (@) @frst aqor
(M) uEE (@) faers

291. UIEH # WoTg S A 7 # 9 39 aftafera fed oma €

2

(@) gu (@) S ¥ I ugref
(M) <& (@) Sugdw i

286. Soybean peas, pulse, sem ,rice, wheat, corn ptcis-
(a) Animal protein source
(b) Vegetable protein source
(c) Vegetable fat source
(d) Animal fat source
287. Peanut, Almond, pistachis, cashewnut, walnut
etc is-
(a)Vegetable protein sourc
(a) Vegetable fat source
(b) Vegetable carbohydrate and water source
(c) Vitamin and mineral source
288. Protein is found in mast amount in which of the

following
(a) Soybean (b) Green leaf
(c) Rice (d) Wheat

289. Function of protein is not-
(a) Growth of body
(b) Repair the maintain of tissue
(c) Formation of enzyme and hormone
(d) Reproduction
290. Which of the following structure is made with the
combination of amino acid
(a) Fat (b) Mineral
(c) Protein (d) Vitamin
291. Which of the following is included in animal source of
protein
(a) Milk (b) Milk product
(c) Curd (d) All the above
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292. Which of the following is not sugar compound
monosaccharide ?
(a) Lactose (b) Glucose
(c) Fructose (d) Yalactose
293. Cellulose comes under which type of carbon
classification
(a) Sucrose
(c) Lactose

(b) Glucose
(d) Maltose

294. Cellulose comes under which type of carbon
classification
(a) Monosaccharide (b) Disaccharide
(c) Polysaccharide (d) None of these
295. Which of the following is not the correct match ?
(a) ) Monosaccharide glucose
(b)Disaccharide Cellulose
(c) Disaccharide lactose
(d) Polysaccharide glucose
296. Due to lack of protein-
(a) growth in hormone
(b) Growth in digestive power
(c)
(d) None of these
297. The nutritional value of animal protein is —
(a) Less (b) More
(c) Equal  (d) None of these
298. Which of the following depend on need of protein —
(a) Age
(b) Physical
(c) Daily routine and labour
(d) All of above



299. WIS @ BT & JER W B T Ioll SURD WIvd 299. Which of the following is not a energy giving nutrient

(;E) m T e %Eé) e on the basis of function of food ?
(1) affSret el (&) S (a) Carbon (b) Fat
300. R ger @feT o@ 8 § ? (c) Mineral (d) Protein
(@) e (W) 918 3R fadrreia 300. Vitamin and mineral is —
(msviferad (&) ®I1s W 8 (a) Protective (b) Growth and development

(c) Energy giving  (d) None of these



